INOX

Stainless
Steel

LV.A-80-SST
LV.A-80-AS-SST

ELESA J& &% it

ATLTT T AR AR A RAAAA S

- rﬁ'-!h"‘*h‘h‘h"*ﬁhﬁh

AL CECEECLLESLEECLELLELERLLLLELA

AR &4

- HEAEMERGEEPATRE RSB EE, WA, Vb, A
g DA B fw b A,

- BEES, TAWNE,

- AISI304 7 8% 41 35 45 i B2 S0 AT,

- LVARL, A A B KCF R,

- LVA-ASE . HNBRZETOH K& AN ACT R EH, wfrtth,
FrROEEATAERERRT REFEE, WEAZHE WS, S
HAESHARTHRELT, RE4EAE,

- AISI30AT R (BT, £ LESI2T),

FEWIT M E B R, 2NEH2R KA,
AR B B HOR R R T B A ey 7, XL IR

S #. S RBERA, B EE, TUR LG, REFRERNYH,
ATFREET N AMBVIRE, ERFEHEENATREE, A
B FHGSEEE el $HEREE, HEERATHYET
FHE i,
17 HAISI0AT 440 T ¢ 48 4, 1 T 21645 8 (15T 0.030%) & 1
! RBBERRAEARATAL. KIREZHETLHIRAEE, M
~ == RE4, SEXREFEEEBRAER, AEARERMR G,
ﬁ""-q. e )
y 1 ! —— \‘ I

e B = B = D L  Lig I d | ] s [N] g ga#
324121 | LVA-80-14-SST-M8x43  |328121| LVA-80-14-AS-SST-M8x43 76 79 M8 43 84 110
324125 | LVA-80-14-SST-M8x68  |328125| LVA-80-14AS-SST-M8xe8 [0 101 104 33| M8 68 14 14 16000 % 122
304221 | LVA-B0-14SST-M10x43  |328221| LV.A-80-14-AS-SST-M10x43 76 79 M10 43 93 119
304225 | LV A-80-14-SST-M10x68 |328225| LVA-80-14-AS-SSTM10x68 [80 101 104 33 | M10 68 14 14 16000 106 132
304231 | LVA-80-14-SST-M10x98 |328231| LV.A-80-14-AS-SST-M10x98 131 134 M10 98 120 146
324321 | LVA-80-14-SST-M12x43 |328321| LV.A-80-14-AS-SST-M12x43 7% 79 M12 43 103 129
304325 | LVA-B0-14-SST-M12x68 |328325| LVA-80-14-AS-SST-M1268 |80 101 104 33 | M12 68 14 14 16000 121 147
324331 | LVA-80-14-SST-M12x98 328331/ LV.A-80-14-AS-SST-M12x98 131 134 M12 98 143 169
324521 | LVA-80-14-SST-M16x68 |328521| LV.A-80-14-AS-SST-M16x68 101 104 M16 68 166 192
324525 | LV.A-80-14-SST-M16x108/328525| LV A-80-14-AS-SST-M16x108 141 144 M16 108 220 246
304541 | LV.A-80-14-SST-M16x148/328541| L\VA-80-14-AS-SST-M16x148|50 181 184 33 | Mm16 148 14 16 16000 273 299
324561 | LVA-80-14-SST-M16x168/328561| LV A-80-14-AS-SST-M16x168 201 204 M16 168 300 326
304621 | LVA-80-24-SST-M16x58 |328621| LV.A-80-24-AS-SST-M16x58 101 104 M16 58 228 254
324625 | LVA-80-24-SST-M16x98 (328625| LVA-BO24-ASSSTMIBG8 | 141 144 . | M16 98 o ot , 280 306
324641 | LVA-80-24-SST-M16x138|328641| LV.A-80-24-AS-SST-M16x138 181 184 M16 138 8000 331 357
324661 | LVA-80-24-SST-M16x158|328661| LVA-80-24-AS-SST-M16x158 201 204 M16 158 359 385
304725 | LVA-80-24-SST-M20x98 |328725| LV.A-80-24-AS-SST-M20x98 141 144 M20 98 352 378
324741 | LVA-80-24-SST-M20x138/328741| LV A-80-24-AS-SST-M20x138 181 184 M20 138 o o , 432 458
324761 | LVA-80-24-SST-M20x158 328761 | LVA-80-24-AS-SST-M20x158 |80 201 204 43 | M20 158 8000 472 498
324781 | LVA-80-24-SST-M20x198|328781| LV A-80-24-AS-SST-M20x198 241 244 M20 198 577 583
304825 | LVA-80-24-SST-M24x98 |328825| LV.A-80-24-AS-SST-M24x98 141 144 M24 98 452 478
324861 | LVA-80-24-SST-M24x158|328861 | LVA-80-24-AS-SST-M24x158 |80 201 204 43 | M24 158 24 24 18000 627 653
304881 | LVA-80-24-SST-M24x198 328881 | LV A-80-24-AS-SST-M24x198 241 244 M24 198 748 774

*URABSEN REEXBERERAT, miEREFLEOERTE, TR REHANER,
# %% T B B BUE .

“‘ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.

‘€lesa-BANTIR)




